IE5293

IEB3002-BPKG/V4A/AS-610-TPS

5 2 E Wby - PR 8%

R i IE5295
ARG W RE PR AR AR, SR 2 BT R BT AN

M8x1

—] | ———

/@913

q3

AR AT PNP
i D e B

e B P i [mm] 2
Hhik WA Ak A
R [mm] M8 x 1
JEH

2 Rl edita e
A V] 10...36 DC
RIIEFE [MA] 15; (24 V)
I 7 S 4 I
AR 2
AT PNP
i D e i B

B 4] i 1 DC 7 IR e e KA (vl 25

B i tHDC IR R Ak [mA] 250
bl A #H#%DC [HZ] 2000
T P

T it R A Y IR

B RPN P

S e 3]

TR B il [mm] 2
LRI IR ik Sr [mm] 2+10%
T AERR [mm] 0..1.6

i L/ i 22
T IE R S 1/ ANgRAM: 0.7/ #5457: 0.5/48: 0.4/ 4i: 0.3
HARPT A PR W » 801648 5 ik i i 4x @ 1F PY % 235956 /B s » Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — {5 B AR 55 i 18 461 1 548 SRR 2 WU HER) . — ZH-TW — IE5293-00 — 06.03.2003 — £



IE5293

IEB3002-BPKG/V4A/AS-610-TPS

pLaERH [SrifE L] 1..15
B [5H 4 R [SrifE L] -10...10
TAEfRAE
TRBEIR [°C] -25...80
AN A IP 65
Rt/
EMCTE i e zx EN 60947-5-2

EN 55011 E4B
L ERa L Ve
shk WA Ak A
e 75 V- e
R [mm] M8 x 1
IRAARER M8 x 1
MH N8R (1.4571/316Ti ); PBT
5 AT ] [ iz R R 2
R IP67 if screwed on
45 BEA 1 1+

AL -
AP 1 X MB; S5 A I Bt iy

1@3

SUEES

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — {5 B AR 55 i 18 461 1 548 SRR 2 WU HER) . — ZH-TW — IE5293-00 — 06.03.2003 — £



